Check Figures Chapter 8

8-30 	Total Cost=$207,500
8-31 	1. $4,750
	2. Per unit variable costs: $30
8-32	Cost Function: y=250+.45x
8-35	1. Maintenance Costs = 1,265+.9256*M
8-36	1. Maintenance Costs = 1,010+1.10*M
8-38	1. Total change for current to prior month=$48.75
8-39	1. $8,335
8-41	Cost=-90+1.30*(hours)
8-42	Cost estimation using square feet as cost driver: Total Cost=1020+0.80*(sqft)
8-43	Machine A unit variable cost = $7.00
8-44	Utilities Cost=1,200-16.50*(degrees above zero)
8-45	2. Total estimated shipping cost=$2,994.90
8-46	Total projected attendance=20,422
8-48	1. Profit = $1,006,000
8-49	Variable Cost using HiLo=330.00
8-52	R-squared=.86
	2. Primate rate=43.6186-.05165*(CPI)-.8254*(Unemployment Rate)
8-50	1. R Square=.044416748
8-51	1. 2,624 hours
8-52	Price for each hat = $36.50
8-53	Total hours for future production = 27,072
8-56	Construction Cost Equation=-5,225+157.508*(TPD)
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